

$$f'(a) = \lim_{h \rightarrow 0} \frac{f(a+h) - f(a)}{h} = \lim_{t \rightarrow a} \frac{f(t) - f(a)}{t-a}$$

we may vary a and obtain a new function of x , we call it the derivative of $f(x)$.

So

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{t \rightarrow x} \frac{f(t) - f(x)}{t-x}$$

Example $f(x) = x^2$ what is $f'(x)$?

$$\begin{aligned} f'(x) &= \lim_{t \rightarrow x} \frac{f(t) - f(x)}{t-x} = \lim_{t \rightarrow x} \frac{t^2 - x^2}{t-x} \\ &= \lim_{t \rightarrow x} \frac{\cancel{(t-x)}(t+x)}{\cancel{t-x}} \\ &= \lim_{t \rightarrow x} t+x = 2x \end{aligned}$$

Example $f(x) = \sqrt{1-x}$ $f'(x) = ?$

$$\begin{aligned} f'(x) &= \lim_{t \rightarrow x} \frac{f(t) - f(x)}{t-x} \\ &= \lim_{t \rightarrow x} \left(\frac{\sqrt{1-t} - \sqrt{1-x}}{t-x} \right) \cdot \frac{(\sqrt{1-t} + \sqrt{1-x})}{(\sqrt{1-t} + \sqrt{1-x})} \quad \text{conjugate!} \\ &= \lim_{t \rightarrow x} \frac{(1-t) - (1-x)}{(t-x)(\sqrt{1-t} + \sqrt{1-x})} \\ &= \lim_{t \rightarrow x} \frac{(x-t)}{(t-x)(\sqrt{1-t} + \sqrt{1-x})} \\ &= \lim_{t \rightarrow x} \frac{-\cancel{(t-x)}}{\cancel{(t-x)}(\sqrt{1-t} + \sqrt{1-x})} = \lim_{t \rightarrow x} \frac{-1}{\sqrt{1-t} + \sqrt{1-x}} \\ &= \frac{-1}{2\sqrt{1-x}} \end{aligned}$$

$$= \sqrt[2]{1-x^1}$$

Example $f(x) = x^3$ $f'(x) = ?$

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h}$$

$$= \lim_{h \rightarrow 0} \frac{x^3 + 3hx^2 + 3h^2x + h^3 - x^3}{h}$$

$$= \lim_{h \rightarrow 0} \frac{3x^2 + 3hx + h^2}{1} = \lim_{h \rightarrow 0} 3x^2 + 3hx + h^2 = 3x^2$$

expand, could use binomial theorem = Pascal's Δ .

$$\begin{aligned} (x+h)^3 &= (x+h)(x+h)(x+h) \\ &= (x+h)(x^2 + hx + hx + h^2) \\ &= (x+h)(x^2 + 2hx + h^2) \\ &= x^3 + 2hx^2 + h^2x + hx^2 + 2h^2x + h^3 \\ &= x^3 + 3hx^2 + 3h^2x + h^3 \end{aligned}$$